o000 I000 #60

2 00000000 (OO0)

gbogbobuodbooobuoobooobuoobbodboo
gbob20000000bobo0001ogooobbooooboo
gbodbuodgbudg l1gbooboobuogbboobooboo
000 (0000)0000000000000000ooooo
gboobobogobbogbuoobbodgboobbodoboo
gobobooogn

21 00O

200000000 DO R2OODOODOOOOR2O00O0OD0
gbobobouoodgboboobuobooobobobaooobo
1g0obobooooboo rROOODOOCOOOODOOOODOOD
gbobbobogobogobboogubuoobboobboo
goboo

HEN

D:{(:c,y)e]R2

1
O<x<1,—2<y<sin—}
x

O0O000OO0o0bO0o0obOOoobOob0bOooopOO0DOOODODOD
opoOo0000O0OOO00OO0OoOOO0DCODODOOUOObDbOOoObOo
goobooooboo

D={(z,y) eR*|0£2<1,05y=<12€QyeQ}
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OOooobOobopOODbObOOOOODOODODD

goooouobbbobbodoooouaoobobbbbodoo
gbobbodbuogbbogbogbobuodgboobobuodoboo
g

00 2.1 [00000] 0000000000000 0200000
000000000000000000000000®W o000
gbobs3sboboobooboboboboobobobbobo
goboboogooboo

pobOoobbOOo0oboboOoobLDmOobobOoobboobbon
ooooooooboobooooopoobobb—-0oD0O DODO
0000000 D2opO0O0O0OO00OOOOOOOODNID =0
gbooboooobobodan

gboogbboobodgbobobobodgbogbbogbogo
gboobobuodboobbuoobbbuodboobbodoboo
gbooobuogbbodbooobogobuoobbooboo
0000000000000 00O000000O0O0O0 (Doooo
ooooooo)d

000000000000 0000000000000000000
P=(z,9),Q=(,y)eR*000

d(P.Q) = /(& =2+ (y —y)?

goooa

(1) 0000d(P,Q) 20000000 P=QO0000

(2) 00DO00d(P,Q)=d(Q,P)
(3)300000d(P,R) < d(P,Q) +d(Q,R)
Ogdodoooobooooooooono 3gouooooooooooo
P=(z,9,2),Q = («,v,2) D00

AdP,Q)=+(z—a")2+(y—y)?>+ (y—y)?

0000000000000 000UoooooooOoooo (1) -(3)
gbobobobobobobobob

00 2.2 0000000 200 (00)0000000000,0000
@ popoooooooooon

OoooOoOoO0O0O0O00O000000000000O0O0OO0OO0ODDoooo0oo
gooobobobooooon

@R = {(21,...,2,) |2 €R(E=1,...,n)} D n 00000000000
P=(x1,...,2,) 00000020 P=(21,...,2n), @ = (y1,...,yn) 00O

N d(P,Q):\/(Jfl—yl)2+~~-+(xn—yn)2 ogooooo
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0000000 U(P) = {QeR?|d(Q,P)<e} 0 PO e-00
(e-neighborhood) D0 OOR?2 000000 AODODODO POODO &0
00 ADDDODODOOPO AOOO (inner point) 0000AODO

000000 ADDOOPO 000 ADDDODODOOOOOO
O00000PO ADOO (outerpoint) 00 00AODODODODOD
000000 (boundary point) 0000000000000 dADDODO
A0000ACAOOODDDDOAODDD (closedset) D0OOAAN
A=@U00000 ADOODO (openset) 0000
A000D0D0D0D000000 (connected) 00O OO0 : 000 20
PQcAOODDDO I=[ab 00 ADDDOOOODO f(a) =P, f(b) =
QDO0D0DO00D0DO0
000000000 (domain) 0000DDOOOO0OO DUuoDO D
0000000000 (closed domain) 00 0M 000000000
{(z,y) eR?| 2> +y*< M} 00000000 (bounded) 0000000

oggono *2.1 OO0 D000 oDOOOOO
(1) D={(a,y) €R?|a®+y2 < 1}

<mD—{mweW
B)D={(r,y) eR?|0<2<1,0<y<1,2€Q,ycQ}

1
O<x<1,—2<y<sin—}
T

22 QJUOoon

0o0oooooooooonno 2000000000000000
00000 2000000000000 (D0 30000000)O
000 00000000 20000 n00000000O0000O0
00000000 R2O00O000 DO0OOOOOOOO 20000
ooooo

f:D—R

O0000000000 100000000000 Wooood
O0000000000 20000000000000000 30
0000000000 Oo0oo0ooooboooooooooooo
@0

00 23[00] bpoooOoOoOoOO

f:D—R

WOopoooo0g Gy ={(zy,2)| (z,y) €D,z = f(z,y)} 0000
300000000000 w = f(vy,2) 000000000 Gy =

{(z,y,z,w)€R4|w:f(:1:,y,z)}[I[I[I 40000 R*0OD00O0DODOOO
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00000P = (2,9) 00000 Py = (¢,0) 000000 (O
0 d(P,P) = (z—a?+(y—02000000000000)0
f(P)=f(z,y) 00000000 ADDOO (Jf(P)-A/ 0000
0D0o0000)00000000

Ph—l%o f(F) =4, <x,y1>1§§a,b> f@,y) =4, xlg)n(blf(x, y)=4
Yy—r

f(P)—A (P—F), fl(z,y)—A ((z,y)—(a,b))
000000POD ROOOODODDO f(P)OODOOO ®QO
1000000000000 000Oooog
0024 (1) 000000000000

1) Jim (F(P)+g(P) = Jim f(P)+ lim g(P)

2) lim kf(P)=Fk lim f(P)

P—Py
3) fim (f(P)-g(P))= lim f(P)- lim g(P)
lim f(P)
im im f(P) _ PR
legﬁﬁ%ommmg%bﬂp) Ty 47)

(2) 000 f(P)<g(P)0DD Jim f(P)< lim g(P)

(3) 00000000 f(P)<g(P)<h(P) DO lim f(P)=

lim W(P)=A0000 lim ¢g(P)0000O00O000O AQ
P*)PO P*)PO

goon =22 00 24000000
U 2.5

(1) f(z,y) = ——2— ((2,y) # (0,0)) 0 lim f(z,y) =0

V24 y? (2,y)—(0,0)

00000000 # = rcosf,y = rsind 00000000
000(x,y) — (0,00 00000 00000000000

r—- 00000000000 f(x,y) DOOODODOOOOO

Or sin 0
fla,y) = LSBT shsing 0000000 7 — 0
.

oggno f(:z:,y)—>ODDDD
Bes00DDO0ODOOOOO

Ve>030 >0VPeD 0<d(P,P) <d = |f(P)—A|<e

oood
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Ty
(2) f(z,y) = P ((z,y) # (0,0)) 000000000
in 6r cos 0
gooooooooao f(%,y):wzcosesine
T
DDDD&DDDDDDDDDDDDG:D%DDDDDD

1
(Lw—ﬂamDDDDf@wﬂ]5DDDDDDD6:%§

1
000000 (zy) —(0,000000 f(z,y)0 —5 000
000000000000000000000000000
000000000000000000

00 26 0000000000000 0O0OOOOOOO0O 25(2)
gbobbooggbbbuooodgbobboo

/ey
OO00o00oo0o0oooooooooooo yoooooooo
Oz0c00000000000000000000000 =0
yuoddooodoooodoooooodguooodguood
goooodooodgooogoo

gbod 23 00bo0oboboboobooboobooboo
gobobobooooon

(1)  lim 2Ayt2 (2) lim 2ty
(@y)—00) z+y—1 (z.y)—(0,0) 22 + y?

(3)  lim (x =1+ (y = 1)° (4)  lim ey
(@y)—11) (z—1)2+ (y—1)2 (@,9)—(0,0) T2+ 2y + 32

2 2

(5) lim %

(z,y)—(0,0) 2 +x2Yy + Yy
00 27 D00000000 f(P) = f(z,y) 00 Py = (a,b) O
00000 (continuous) O O

li P) = f(F, o000 i = b

Pg%f() f(P), (mﬁ%mf@W) f(a,b),
O000ODOO0O0000o0o0bO pooopooODOO fO DOOO

0000000000 0000000 (continuous function) O
ooo

gbbogobogboobooobooobbooobobool
gooouooubbbbbbbbdodoooouoobbbbbdodo
HEN
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00 28 [J0000] 0000000000 OOOOOODODO
gooo

oooob 24 00280000000

10bogbbuogoboodobbuoobbubboobboo
gbobogubogobbooboboobooobbuoobooo
gboboboooobbbuoobobbboodonobbogo

23 00O

10000000000000000000000000000
000000000000000000000 200000000
0000 20000000000000 29(000000)000
00000000000000000210(000000)000
0000D00000000000000 100000000000
0000 20000000000000000000 (00000
0)oooo

10000 0ooooo0 = 00000
0oooo 0000000 < 000000
(0oooo) (0ooon)

000000 20000 f(r,y) DODO0OODOOO 200000
gbooboooboobon

00 29[0000]00 2= f(z,y) O (z,y) =(a,b) D000 2z
0000 (yOOoOOoOO)ooooooo

fla+h,b) — f(a,b)

i}glo h
(llm f(a7b+k>_f(aab))
kE—>0 k
dodoodoooooooooooogodg
af 0z
or o o

af 0z
g T
bz 00000 yUOO0LOOOoO0bOb0ooooobououooo

goooboobobobobob11000o0o0o0ooobobobo
0000000000 20000 (yOOODO)DODOOODOOOO
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Jdo0o00do0ooooodooooooboooogooogoogno

oot oobuogbuogbouognouogoog
godod

xry

— (x, 0,0

fog =1 i (z,y) # (0,0)

0 (xz,y) = (0,0)

goob 25 0O0000O0O0O000000O0D0OODOOO0d
gbboobobodboobbuooobbodboobbodoboo
gobooogd

10bgbogbbogboobobooob 2b0gbbdooog
gbobboogobbbdag 210000bbooad

googbogboogbbooboobuogbuoobogboo
gobo

gbobdobo1boboboboobo110bo00o00o0o0oo
goooboooboon

0000000 LO0O0ODLOO0 1000000000000
00 @ = (0, 90,2) 0000L000000000 (00000
0)0 a=(a,bc)0000L0000000O0000O000O0O
00 o= (2,y,2) 000000000 -2, 00000 a000
000000000 00000

(x —xp,a) = (x —x0)a+ (y —yo)b + (2 — 20)c
=ax + by + cz — (axg + by + cz9) =0
d=axg+byy+20 0000
L={(z,y,2) ER*|ax+ by +cz=d}

gbodbbobbobbobb 1oobbobbobboboo
goobooogn
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O00 z=ax+by+c 00000000000y =00 2200
guooobbbbgouobobbid 2=ax+cUU0onoggg
O0000 eU z2-00000000O00O0O0O0ODOO0O0ODDOO
gobooo

00 210 [00000] f(x,y) 00 (a,0) 00000000000
O0(e,b) 000000 WOODODO

fla+hb+k)— (f(a, b) + %(a, b)h + g—]yc(a, b)k>
s(h, k) = N

0000 f(z,y)0 (a,b) 00000000

lim  e(h k) =0
(h,k)—(0,0)

gbogbobobobobobobbobooboobooboob

0o 2.10DDDDD(a,b)+%(a,b)h+%(a,b)k oooooo

O0000{@DoOoO0 pkODODODOODODODO)ODOOODOO

gbobbooodgbbbuoooobbboo
gboogbboobogbboogoboobooboobaogboo

gbbooobuodobbuodobbodboboobooobooon

0o 211 f, f,000000000000C0C00C0O00 fO0O0OO
gooobog

goob*2.6 00 211000000

oood 27 ODO0OO0O2500000000000000000
goo

oooD000000000000000000000000000000
oboooooboooooon
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	演算子法

